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CHARUTAR VIDYA MANDAL’S
5. M. PATEL COLLEGE OF HOME SCIENCE
(Autonomous)
Vallabh Vidyanagar
Laboratory Assistant Written Examination
Part-A (Series: A)

Subject :
Date: Time: 60 Min

Candidate Sign. :

Marks : 60
Seat No.

(4R L 1-2) o012 WA ol QELel A U AU o159l 52| & Ustoll GriR viueal 1@ 53 [Qriet vl 87

{Question No. 1-2) Read both the statements given below and decide which statement is sufficient to answer

the question?
1 Gl Al el sul a¥ w2l odl?
Qtuet:
L Bale, U Qdtell Hidtell 24 ay «uofl 8.
. Gaetell ue, Aol ot 2000 Hi Al &ell. Weltell Micitell 30 < «tiell B.
a) Asd Quet 1 Yd B. 2R Asq @Quieat 1 vait «&ll.
b) Asd QAtutel 1l Y 8. *AR Ase] @Qutet | vl «ell.
o) oA [@utel 1 a1 yRelt ol
d) ool @Qutet | A Il Yell 8.
In which year was Fiona born?
Statements:
l. Fiona is currently 24 years younger than her mother.
Il. Fiona's brother was born in 2000. He is 30 years younger than his mother.
a) Statement | alone is sufficient. While statement |l alone is not sufficient.
b) Statement Il alone is sufficient. While statement | alone is not sufficient.
c) Both statements | and Il are not sufficient.
d) Both statements | and Il are sufficient,
2 u3, 2006 oAl Becll (AR 58 AR el edl?
Qe
LA uRetloll U Q@ aR 5 {l AR el &AL,
I A MEoitell Becl (B gsalr &l
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a) Asq Qe 1 Yad B. R Asq @titet I vt otell,
by Asel Autet 11 Y B, »u? Asef Attt 1 vl otell,
c) ol [Qutet | AUl 11 YRell B,
d) ol [Qutet 1w 11 YRell el
The last Sunday of March, 2006 fell on which date?
Statements:
I.  The first Sunday of that month fell on the 5th.
Il.  The last day of that month was Friday.
a) Statement | alone is sufficient. While statement Il alone is not sufficient.
b) Statement Il alone is sufficient. While statement | alone is not sufficient.
c) Both statements | or Il are sufficient.

d) Both statements | and Il are not sufficient.

sal: ;

1.EISA W BB, 2. €5 C U B B.

ERCINE

1. €S CAAD. 2. 32clls B A C oel. PR
8 A R UG D, b) 55l AN 2 wuefed D,

c) Blee -1 ua 2 uqud B, d) @y -1 3 2 Tél Asugl Woguird otell.

Statements: 1. Every A is B. 2. Every C is B.

Conclusions: 1. Every C is A. 2. Some B is not C.

a) Only conclusion -1 follows. b) Only conclusion -2 follows.

c) Conclusion -1 and 2 follow. d) Neither conclusion -1 nor 2 féllows.

A x sl y Al Al Al o[ Aetiniell 52 Ascu Al v 432

If x and y are odd numbers, then which of the following options will be an even number?
a) x+y b) x+y+1 c) xy d) xy +2
% 2389A4 A 9 a3 QAN ewoll wsta A A =7

If 2389A4 can be divided by 9 without remainder, then A =7

a) 3 b) 2 c) 1 d) 0

72 x 81 X 78 x 99 Ml WsHoAl s AL,
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L(o}

10

11

12

13

14

15

16

Find the units digitin 72 X 81 x 78 x 99,

) 1 b) 2 ¢) 3 d) 4
AL= X A x=7
X 22-2-
If ﬂ = - then x =?
2 22;
a) 25/2 b) 4/25 c) 25 d) 4
46% - 40°% - 63=7
a) 32120 b) 33120 c) 0 d) 30120
9|3 -5/ -5x4+10=?
a) 16 b) -16 c) 52/10 d) —92/10

suall 100 e g 837 : 8, 11, 14, 17, ...

The 10th term of the sequence: 8, 11, 14, 17, .... is...

a) 31 b) 33 c) 35 d) 37
1+1+1-l- + . =7

27278 16
a) 15/16 b) 31/16 c) 30/16 d) 17/16

A-visefl Alel M wa Alell ettoll AuuA Aol gl W, Beil wslel UUA 14 D,

Find the difference between the largest and the smallest two-digit numbers whose sum of digits is 14, -
a) 18 b) 27 c) 15 d) 36

A +x+1=0 40 a U p A, A 2+7 o Hed Jod 62

If @ and B are the root of x% + x + 1 = 0. Then what will be the value of -i--t- %?

a) 1 b) 0 c) -1 d) AsuRl oAl (None)
Ax—7=3 82 d of x* - % of yeat Jeqf 42

If x — = = 3, then what is the value of x3 — 57

a) 36 b) 63 c) 99 d) 27

A 6x% ~5x— k=0 A5 4 3 A A, k of Yo 9 627

If one root of 6x* ~ 5x — k = 0 Is 3, what will be the value of k?

a) 36 b) 39 ) 0 d) 2

140 [@eeuellaAl a1zt Anddt oYt ol wd22 35 B, A Wt wdey Qenellolloll a2t 40 o4t B. da
AU 2dcl [Qeaellalloll 12242 40 2401 B, A oty Udctl Rranelludlol w¥iat 20 43 B, A AW
2l [@Qrauelxllol dven dzcll sdl7
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18

-
t0

20

21

2z

The average of the marks obtained by 140 students is 35, The average of the passed students is 40

marks. And the average of the failed students is 40 marks. So, the average of the failed students is 20

marks. So, what will be the number of failed students?

a) 40 b) 30 c) 35 d) 20
10 duaitallel dd2ie 15 8l wA 35 Avan i 5 GR2and wd, A Adl 22 g oa?

If the average of 10 numbers is 15 and 5 is added to each number, what will be the new average?

a) 20 b) 15 ¢) 10 d) 75

Retiell steell uz Y2t s2ci 5 2l B, 4 ad udfl Aettell Guz 4 aell 23, A Aol steofl 612
ol w2

The father's present age is 5 times that of his son. After 4 years, the father's age will be 4 times that
of his son, then what will be the father's present age?

a) 12 b) 48 c) 60 d) 72

Sl cadetl euanl 15 % auiA L 8. A Adl U2 adl W A o 2Awdl dla Al auay ui decu 2st
uztsl g2al AGA?

The price of an item increases by 15%. If the expenditure on it is to remain the same, by what percentage
shouid consumption be reduced? ) o e L

2) 13-% b) 13% c) 15% d) 13:-%

30% <l 30% = 7?
30% of 30% = ?
2) 0.09 b) 9 c) 0.9 d) Vsugl «t8l (None)
Az aiq 900/- 3R Wi AUl 25% ol Wle o A Aell yalBud decll 622

If an item is sold for Rs 900/- and there is a loss of 25%, what will be its original price?

g) 3600 b) 1125 c) 675 d) 1200

%l 1Ay e UM s 12 R UA 15 Rad i st Yol 53 243 B, A wd nelld 5 Ran
s 5% B uol UH el 22 B Al wtdlo] st u@N A Yal sl Jectt Bay cald?

If Anish and Param can complete a work in 12 days and 15 days respectively. They work together for
5 days and Param slays away, then in how many days will Anish take to complete the remaining
work?

a8) 3 days b) 9 days c) 15/4 days d) AsuRt A8l (None)
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23

24

25

26

27

28

A 2lsl A 4 scls W el w B, wA B oAc 218l A 6 seus U il 52 B, R A da Aswd
wleatHl 21 dl 28l Yl sells 1l oL w2

Tap A can fill the tank in 4 hours. And tap B empties the tank in 6 hours. If both the taps are opened
simultaneously, in how many hours will the tank be filled?

a) 15 b) 5% ) 12 d) Asugl 8l (None)
ellet WA udA HollA N AL 56 3. 2,00,000 of Aste 5. ¥llA 3. 1,20,000 of Astel 53
WA U 3. 80,000 of AslQl 5. A5 Ay ukl, st A4l 3. 65,000 U, Uclelal J2CA A5l Heell?

Jatin and Pawan together invested a total of Rs. 2,00,000 in a business. Jatin invested Rs. 1,20,000
and Pawan invested Rs. 80,000, After one year, the total profit was Rs. 65,000. How much profit did
FPawan get?

a) 26,000 b) 39,000 c) 32,500 d) 25,500

110 oL cliell Betoll Bsu 60 BalUsclls B. unicr wet uz GA 170 L. dioll 3ot A Aottt decll
Ass @dl?

The speed of a 110 m. long train is 60 km/hr. How many seconds does it take to cross a 170 m. long
train standing on parallel tracks?

a) 15.6  b) 16.8 ¢) 17.2 d) 18

% & ca&?tzﬂeﬂ OLfP{ wegsi x BulUscus ua y BlUscus 8, w& QA @z« [%aulu AN
atll 2a 63 @ Auell duild a@ 32l &2

if the speeds of two people are x km/hr and y km/hr respectively, what will be their relative speed

when they are moving in opposite directions?

a) % b) % c) x+y d x—y

A S, =2n%+3n A d=?

if S, =2n?+3n, then d =7

a) 13 b) 4 c) 9 d —2

A w3 B ol MRS s 45D dal Wl wil 7:9 8. A oA €2 HRA 3. 50 “AC Bl &, Al A
Al w@s wuias yecll 827

The monthly income of A and B is 4:5 and the monthly expenditure is 7:9. If both of them save Rs.

50 every month, then what will be the monthly income of A?

a) 530 b) 500 c) 512 d) 400
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(UR «t. 20 ¢t 32)
AR Wl W ausdl As el vl o

Razy esland B, sl wewy sdla «{lQeit

[ dumwia

URlelt A e Wl i sy
(Question No. 29 to 32.) i/ ([ oot wmad wia
' upf wid Guabrl dade nid

The pie graph given below shows the details of

the land of a village. Study the graph and answer ltﬁﬂ*';‘i?;o;ﬂm

the following questions correctly.

29

]
=)

33

34

At Yl (wasteland)dll Well cltas (cultivabible) ¥ {letell Rl el ul?

What is the ratio of wasteland to cultivable land?

a) 3:2 b) 1:2 c) 4:3 d) 3:1
N UM $@ AAsA 7200 Ws2 A, Al AR (grazing) W2 el A2 wlet AsAct B?

If the total area of the village is 7200 acres, then how many acres of land is reserved for grazing?

a) 1028 b) 5040 c) 3600 d) 1400
s vl Al e 2st el Rdleawas (cultivable) 872

What percentage of the total land is cultivable? R —— _ _— =
a) 24 % b) 50 % c) 25 % d) 90 %

sct wlelell 32l AR eldl arell 4AQA B2 (How many acres of the total land area is inhabited?)

a) 1200 b) 1400 c) 1028 d) 1650

As v 6 Bl e@a Rt dzs w@ B, Ul stoll drs adl 4 (all wad 8, g3l stell ouy adl
(el Bantd 5 Gl W@ B, A 62 dAgf HW 58 B2 s 8lA 2

A man walks 6 km towards the south, from there he turns left and walks 4 km, then turns left again

and walks straight for 5 km, so in which direction is he now facing?

a) el@al (South) b) Gl (North) c) yd (East) d) UEH (West)

o divall 3675249 Hiolt Wy A4 visuiell QA olle scUMl WA dal UAs Al uis Wi 3 GRa

Al wetdll otcl sNsaelul yzal R A cud Aol HA?
If two are subtracted from each odd digit of the number 3675249 and 3 is added to each even digit,

how many digits appear twice in the new arrangement?

a) 1 b) 2 c) 3 d) 4
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(7}
&

36

38

38

40

41

42

W us W vedl AWs weudl, 3 a8
Fill in the missing number in the given question. 51
7 9
a) 25 b) 20 c) 32 d) 42

As cugel 1 2@ et o BY ol 16 U B, Al A ettt M yeal cala 6317

Ravi's position in a line is 16th from both ends. So how many people are there in that line?

a) 29 b) 30 c) 31 d) 32

i, 4, 27, 16, ?, 36, 343

a) 25 b) 87 c) 120 d) 125

QTE, PUF, QVG, RWH, ?

a) SXli b) SXJ c) TXI d) SYJ

As el aduiet 1R Aefl 1idiell GuR sl % ol ®. 26 a ugl, Aell Guz, Asll Uctefl GUR
sl é el a8 ¥, Al Aell Hetoll achitat 1R decll 837

A person's current age is % times his mother's age. After eight years, his age will be % times his mother’s
age. So, what will be his mother's current age?

I S 5| W ¥ .. . d) 48 el

ApxgAuladl Rl PB,P- QAudQaAl ddet P B, P+Q Al A Q Al HidL P 8, P+ Q

Al ud ad ey P o.
If P x Q means Q's father P, P — Q means Q's sister P, P + Q means Q's mother P, P+ Q means Q's

brother P
a) -l b) YA c) WA d) Wl ¥ =
(granddaughter) (son) (grandson) (granddaughter or
grandson)

oo A Balc udato 1l yHA 3:25 2ud B, dl saus ud Rz sial ol A2 ol et wRl g

8317

When a wall clock shows 3: 25, what will be the minimum angle between the hour and minute hands?
a) 60° b) 52.5° c) 47.5° d) 42°

oA efoguldl ol 1247 e 2zalR ofl utz Ray udal B, dl 1Rt ol 210 Ray s Rad &2

If the 12" of January is four days before Thursday, then what day will be the 21" of the month?
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a) MolCR(Tuesday) b) YSAUR (Friday) c) @aR (sunday) d) FWHAR (Monday)

43 100 @areluigll szl At ¥dui: 40 Ral 2@ ¢4 2R B, 50 Qawell Rsuet (S) AR B, 35
@Qeel w2 () AR B, 15 QenellA @ u Rsiet wA 2R B, 10 Qaiedl} Rsust 1 23 WA
S B, 12 Raelld 2@d wA 2 R AR B, 5 QullA AQ Ry 2R B, Al dedi Qalla A
As Qua Q@ 2 B?
In a survey of 100 students: 40 students like Mathematics (M), 50 students like Science (S). 35 students
like English (E), 15 students like both Mathematics and Science, 10 students like both Science and
English, 12 students like both Mathematics and English, 5 students like all three subjects. How many
students like only Mathematics?
a) 13 b) 17 c) 30 dy 18

aa sl (0 <l W@ WA AR Rscdl (a), (b), (¢) U (d) Hiell Aol =l 2lauedl soll ue 52U

choose the correct mirror-image of the Fig. (x) from amongst the four alternatives (a), (b), (c) and (d)

I e

(x) a) b) c) d)

given along with it.

(48 <l 4546) SR
A3 A 1B ruetyds cid w1 2R YAl ol Fod .

s Rizetl wsd As BB B AU AY 2w B. Qi J K L MN,O,P,Q, dil R 8. e As %
s i A6t B. L, M ol g2t wugll g el N ofl gl cuy@d Al 8. K sl As Bsl R B. QA

0 22 p udt <l W A8l B. o, K ol stell oo Al 51 B. J, 0 oll A et ¥ AdA B,

(Question No. 45-46) Read the information below carefully and answer the questions given below.

Nine cricket fans are watching a cricket match in a stadium. They are J,K, L, M, N, O, P, Q, and R. And

they are sitting in the same row. L is to the immediate right of M and third to the right of N. K is at one end

of the row. Q is sitting near both 0 and P. O is third to the left of K. J is sitting immediately to the left of O.

45 s3laell Mt cldatHl BlaL A B
(Who is sitting in the middle of the row?)

a) | by J ¢c) O d Q

46 &3t ol B3 AL Ag B2  (Who s sitting at the other end of the row?)

a) J b) P c) N d) R
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(MR ol 47 - 50 )

Aol Agell MU 5 B 69 UL Studnets School | Boys : Girls
el AR e Qenellodo dvan 0 A 07:08
WAld B AR oflAcil Wslotlotl Fellol 5000 B 06 : 08
4000
Al 3000 C 01 : 01
2000
(Question No. 48-51) Study the graph ;440 D 03 : 01
0 :
below which shows the total number of " B g B 3 & E 02 : 01
students in six different schools and F 07 : 03

answer the questions that follow,

47

48

49

50

51

52

53

ol qwouzllul BlsdaAe( a2 32cl B2 (What is the average of girls in all school?)
a) 1375 b) 1275 c) 1225 d) 1350

WAL F 4l Hls0 UA Wou D Ml BlsAA a2 g dsiad B2

What is the difference between the boys in school F and the girls in school D?

a) 600 b) 700 c) 400 d) 200

o ol E ui 30% @enelAA wan Rewdt, 28% ReudAA ol Qewdt, 26% Qatelzu o
Rewot Ancall 8la A ctdlatt W ot gl 2, Al stud aAcll [QeteflQ 208,

If in school E 30% students got first division, 28% students got second division, 26% students got third
division and rest did not pass. Find the failed students.

a) 1000 b) 900 c) 940 d) 960
s B i 8153 A 2wt ¢ Hi BlsAB dA Bl d2cl B2

What is the ratio between girls in school B and boys in school C?

a) 8:5 b) 5: 8 c) 6:7 d 7:6
BDF, CFl, DHL, ?

a) EMI b) CJM c) EJO d) EML

23, 29, 36, 44, 7

a) 58 b) 55 c) 53 d) 49

A + HRAUR X, — GRIAUR +, X GRIHR + U + HRAUR — QA Al 6-9+8x3+20=
If + equals X, — equals +, X equals + and + equals — , then 6 -9 +8 X3 + 20 =

a) 6 b) 2 c) 12 d) 10
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54

55

56

57

58

59

60

wulet us ML vedl vis wguel, s | 3___1_ 5]
i i : 20 | 30‘i ‘

Fill in the missing number in the given question. _g__r_ = J : 4‘[

a) 225 b) 75 c) 45 d) 33

Aett coll crett Aciud A QA ealadl Aot 2@ e 5A: s, A1l Y

Select the Venn diagram that best illusirates the relationship among the following classes

stars, sun

a)

AA Ay o WAlell AR WA WAL Well WA 8. 51 ofl Q¢ dvau Wl

Four different positions of the same dice are given below. Find the opposite number of 51.

52 21/1 ’% Hﬁ:ﬁ
Qé 55 fsa | 54
o B

a) 53 b) 52 c) 55 d) 54
AWell Aseluidl, 10 A8l Bl o Sl At - 8:4

From the given options, find the pair which is similar to the given pair: 8:4.
a) 216: 32 b) 27:9 c) 72: 24 d) 45: 5
80 £l 90 a2 ol dxid ulAeura AvauAl «ll ARUSIR Y AA?

What is the product of all prime numbers between 80 and 907

a) 83 b) 7387 c) 598347 d) 8773
1257 122 yi AsH ol s W (Find the units digit in 1257 122),

a) 9 b) 7 c) 3 d) 2

- Moon,

b) c) d)
S ©o GO @2

p ofl Elscitell 25U Q ol ati? U2d R ofl AuHgll A AL B. R ol Bsu s ol 20 B. A 41

uyeul dlell »sUl Elsalz sl 87

P's running speed is greater than Q but less than R. R's speed is less than S. So, who is the fastest

runner in this group?

a) S b) R c) P d) Q

*The End*
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CHARUTAR VIDYA MANDAL’S
S. M. PATEL COLLEGE OF HOME SCIENCE
(Autonomous)
Vallabh Vidyanagar
Laboratory Assistant Written Examination
Part-A (Series: B)

Subject :
Date: Time: 60 Min Marks : 60
Candidate Sign. : Seat No.
1 Gt oy
2 4 8 16
a) 15/16 b) 31/16 c) 30/16 d) 17/16

Qaisell el WA A Qell oliell dvauzll ca2Aell cdsiclet SN, Retl BBl w2l 14 .

Find the difference between the largest and the smallest two-digit numbers whose sum of digits is 14

a) 18 b) 27 c) 15 d) 36

3 x2+x+1=00jHMaMaﬂt?lEl.&1%+%ajlicﬂ213;ac‘j@ﬂ?

If @ and @ are the root of x* + x + 1 = 0. Then what will be the value of £+ %?

a) 1 b) 0 c) -1 d) AsuQl <18l (None)
4 RAx-1=383, c-ﬂofx3—$oj ye deq ud?

If x — % = 3, then what is the value of x3 — xia ?

a) 36 b) 63 c) 99 d)y 27

5 ol 6x2-—5x—k=00us YA 3 A |, k o YU g A7

If one root of 6x% — 5x — k = 0 is 3, what will be the value of k ?

a) 36 b) 39 c) 0 d) 2

140 @QrauelA g2t Aadet ol ol AR 35 B, AHl W wAcl Qenell2ll A32n2 40 0L B.
Al 2dctt @eaunllallell a2 40 2L B, Al At UAcl QraudleAl A2 20 23l B. A AtwH
2dal QraelA6l dva dedl g2

The average of the marks obtained by 140 students is 35. The average of the passed students is 40
marks. And the average of the failed students is 40 marks. So, the average of the failed students is 20
marks. So, what will be the number of failed-students?

a) 40 b) 30 c) 35 d) 20

7 10 dvaudlefl 222 15 A wal €35 AvAL ML 5 GRAMI WA, Al otcll u221 g UA?
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10

11

12

13

14

If the average of 10 numbers is 15 and 5 is added to each number, what will be the new average?

a) 20 b) 15 c) 10 d) 75

Redell stasll 612 Yt s2ctl 5 960l B, 4 ay ugl Adiell Guz 4 2l ad, A Rettell stetell GuR
el ad?

The father's present age is 5 times that of his son. After 4 years, the father's age will be 4 times that
of his son, then what will be the father's present age?

a) 12 b) 48 c) 60 d) 72

8 cacell elledl 15 % a2l Azl B, o Aot uz 4l wal A o 2ewdl fla dl aurte H Jedl 25l
u2L8l scll ALgA?

The price of an item increases by 15%. If the expenditure on it is to remain the same, by what
percentage should consumption be reduced?

a) 13-% b) 13% ) 15% d) 13:%

30% ol 30% = ?  (30% of 30% = ?)

a) 0.09 b) 9 c) 0.9 d) Asul &l (None)
s crq 900/- AL 1l Aucell 25% ol Wle o Al dell yalBud decll s

If an item is sold for Rs 900/- and there is a loss of 25%, what will be its original price?

a) 3600 b) 1125 c) 675 d) 1200

A AUEN A UH BefsD 12 Rt w1 15 B 1l stn ygl 53l a3 B, Al 1@ ndllad s Reau sn
£ B ual UM %l 22 B Al cltle s WA A Yol sl dzau Rau awodl?

If Anish and Param can complete a work in 12 days and 15 days respectivefy. They work together for
5 days and Param stays away, then in how many days will Anish take to complete the remaining work?
a) 3 days b) 9 days c) 15/4 days d) Asul A&l (None)
Aol 2l A 4 scits di @l A B, UA B dn 2ldl A 6 scus Wiwell 52 . ol olad oL Asud
vldatHl a1d dQ 2idl dedl sclls Hl eRIY A ?

Tap A can fill the tank in 4 hours. And tap B empties the tank in 6 hours. If both the taps are opened
simultaneously, in how many hours will the tank be filled?

a) 15 b 5% ) 12 d) Asu A8l (None)
aellot el uad 1ol As caauAMl §A 3. 2,00,000 of AsteL 53, ¥ellal 3. 1,20,000 Asial 53 ua
uaa 3. 80,000 of Asigl 5. As Ay uyl, ged <18l 3. 65,000 g2, udetal 2@l otdl Hul?
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15

Jatin and Pawan together invested a total of Rs. 2,00,000 in a business. Jatin invested Rs. 1,20,000
and Pawan invested Rs. 80,000. After one year, the total profit was Rs. 65,000. How much profit did
Pawan get?

a) 26,000 b) 39,000 c) 32,500 d) 25,500

110 ol dicll 2etell 25U 60 BHUscits B. amidr wet uz Gacll 170 Hl aioll 2ot A slAadl deell
Ass @dl?

The speed of a 110 m. long train is 60 km/hr. How many seconds does it take to cross a 170 m. long

train standing on parallel tracks?

a) 15.6 b) 16.8 c) 17.2 d) 18
16 A A Al oR wuegs x BrlUscits uA y BulUseus a, A »2ut Axll @z R w0 atll
REU A &R Axell Aol auld dedl &2
If the speeds of two people are x km/hr and y km/hr respectively, what will be their relative speed when
they are moving in opposite directions?
a) f_%;’ b) :f: c) x+y d) x—y
17 A S,=2n?+3n, dld =?
If S, = 2n% +3n, then d =7
a) 13 b) 4 c) 9 d) —2
18 A ua B ol WRAs ulcs 4:58 dul {RAs WA 7:9 B, A ol €R URA 3. 50 AAA 52l A, dl A

Al Rs wias secll 897
The monthly income of A and B is 4:5 and the monthly expenditure is 7:9. If both of them save Rs. 50

every month, then what will be the monthly income of A?

a) 530 b) 500 c) 512 d) 400

(g ot 19 dl 22) 12 2wt W ausul s
otsell %ilet of @azel eadate 8, gl weuy
53R ol Aot YAlot 20 welel UL

(Question No. 19 to 22.) The pie graph given below
shows the details of the land of a village. Study the

graph and answer the following questions correctly.

[ dserwia

Acdlams il

e

mﬂm a2l uarad wis

sl wid Ovubl dardde wi

19 A2lel wllet (wasteland) &l Rell @s (cultivable) ¥Hletell aellelR el au?
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=~
—

48]
=

26

27

VWhat is the ratio of wasteland to cultivable land?

a) 3:2 b) 1:2 c) 4:3 d)y 3:1

A e 5@ A3 7200 As2 Y, Al AU2 (grazing) W@ 22l As2 wlld AzAc &2

If the total area of the village is 7200 acres, then how many acres of land is reserved for grazing?

a) 1028 b) 5040 c) 3600 d) 1400

A Wl Al 3ec 28t &t Rellatas (cuttivable) 82

What percentage of the total land is cultivable?

a) 24 % b) 50 % c) 25% d) 90 %

$& Wl Tz R ewdt axdl wAd 82

How many acres of the total land area is inhabited?

a) 1200 b) 1400 c) 1028 d) 1650

Qs 6 Bl @y B dzs w@ B, el siell dzs adll 4 Bl @ B, sdlall siell sy addl
Al Beuxt 5 Bl W@ 8, A 82 Aef YW 58 Bau drs A 2

A man walks 6 km towards the south, from there he tums left and walks 4 km, then turns left again
and walks streight for 5 km, so in which direction is he now facing?

a) e2 (South) b) GdR (North) c) yd (East) d) Ul (wesy)

¥l AAL 3675249 HUicll uAs A wsuisll A cie sl WA da uds Agl s ui 3 GRraiul
wWid A wddl «dl aNsarlul Izl sl A auid Aal HA?

If two are subtracted from each odd digit of the number 3675249 and 3 is added to each even digit,

how many digits appear twice in the new arrangement?

a) 1 b) 2 c) 3 d) 4
e Y M vedl s weudl 3 [ a8 |
Fill in the missing number in the given question. 51 I
? 9
a) 25 b) 20 c) 32 d) 42

As el 1 AQe] 2alet ol B3 &l 16 W B, Al A el Ui decl by 612
Ravi's position in a line is 16™ from both ends. So how many people are there in that line?
a) 29 b) 30 c) 3t d) 32

1, 4, 27, 16, ?, 36, 343
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28

29

30

31

32

33

a) 25 b) 87 c) 120 d) 125

OTE, PUF, QVG, RWH, ?

a) SXi b) SXJ c) TXI d) syd

A caAldell adulet GUR Aol Hidlell GHR 82l 3 aell B, uts o ul, doll Guz, Aol Mol Gu
sectl 7 QL a8 ¥, A Aell Hiclell aduiet Guz decll 6217

A person's current age is % times his mother's age. After eight years, his age will be % times his mother's
age. So, what will be his mother's current age?

a) 32 b) 36 c) 40 d) 48
APXxQAUNLQARQAPD, P-Qoll U Qoll 6Bl P B, P+Q dl ud Q oAl WAL P B, P+Q
Al ud Q <l e P B.

If P X Q means Q's father P, P — Q means Q's sister P, P + Q means Q's mother P, P - Q means Q's

brother P,
a) WAl b) YA ¢) d) ol 3 @
granddaughter son grandson granddaughter or

grandson
w2} As Baie uBan i aua 3:25 2wd B, dl sdls wuA AR2 siet ol a2 ol et Wal §
&2
When a wall clock shows 3:25, what will be the minimum angle between the hour and minute hands?
a) 60° b) 52.5° o c) 47.5° d) 42°
ol el ol 1200 oy 92ar ol wR (Bay ugal 8, dl uldal ol 2110 Rau sat Rad e?
If the 12" of January is four days before Thursday, then what day will be the 21** of the month?
a) HolMdIR (Tuesday) b) YsR (Friday) c) Az (Sunday) d) WHAR (Monday)
100 Qereluiell s et udui: 40 Qael add (v) aR B, 50 @Qeueld Qstiet (s) 2R B, 35
Qe 213 (E) 2R B, 15 Qeuella ol v [@sitet v 2R B, 10 [Qenelld @Qstiet WR 20N waA
AR B, 12 Qendld alld A 2y «wd AR B, 5 Qaielld AQa @QAua 2R B, Al 3e2al Readld
HiA As [Auz aftld oA 87
In a survey of 100 students: 40 students like Mathematics (M), 50 students like Science (S), 35 students

like English (E), 15 students like both Mathematics and Science, 10 students like both Science and
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34

English, 12 students like both Mathematics and English, 5 students like all three subjects. How many

students like only Mathematics?
a) 13 b) 17 c) 30 d) 18
wuls@ (x) ol WA wAA wR @& (a), (b), (¢) UA (d) Hiell Aol a2l wauiedl voll udie 52l

choose the correct mirror-image of the Fig, (x) from amongst the four alternatives (a), (b). (c) and (d)

given along o) o) ore e)

(x) a) b) c) d)

with it.

(UH ©l. 35-36)
(A ol MBA aatyds did UA oA WA YAl ol weltel AL

dd (Bheetl wesl As REAHML (B3e AU AT 6 B, A J, K, L, M, N, O, P, Q, d&l R B. wa As %
s 1l AsL B, L, M oll d2ct ormill sty el N ofl upll sty Aol B. K gAnetl As Bsi u2 8. @ A
0 UA P old ofl WA A8 B. 0, K ol stell ciizyR Al 52 B. J, 0 oll 1A ded ¥ Adcd B.

{Question No. 35-36)

Read the information below carefully and answer the questions given below.

Nine cricket fans are watching a cricket match in a stadium, They are J, K, L, M, N, O, P, Q, and R. And

they are sitting in the same row. L is to the immediate right of M and third to the right of N. K is at one end

of the row. Q is sitting near both O and P. O is third to the left of K. J is sitting immediately to the left of O.

35

36

37

s 0ol HEL ClLOLHL SlaL Ag B? _ | ]
Who is sitting in the middle of the row?

a) | b) J c) O d) Q
sl ollon B3 sloL A§ B7?

Who is sitting at the other end of the row?

a) J b) P c) N d) R

p ofl Elsclell 255U @ &l a2 Uzd R ofl duell A A B, R ol Bsu s 2l A B. Al
uypul dlell ssul Elseuz slot B2

P's running speed is greater than Q but less than R. R's speed is less than S. So, who is the fastest

runner in this group?

a) S b) R c) P d) Q
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A o, 38-41 B . Girls |
(U ) Studnts HSchool Boys : Girls |
lAal Al veMYH 5A ¥ © — A 07 - 08
UAN  UAAN WAL g 6000 B 06 : 08

5000
@QaelRel dval dctd & WA 4000 p 01: 01
2 3000
ol WAletledl wato W, 2000 5 03 = 01
: 1000
(Question No. 38-41) 5 E 02 : 01
Study the graph below which R B ¢ Y & F p 07 : 03
shows the total number of students in six different schools and answer the

questions that follow.
38 ol waRdHl SlsAel ad2e deel B2 (What is the average of girls in all school?)

a) 1375 b) 1275 c) 1225 d) 1350

38 2WALF A Sl AR 2o D Hi Sl 23 9y dsldd 8?
What is the difference between the boys in school F and the girls in school D?
a) 600 b) 700

c) 400 d) 200

40 A wal E 1 30% QeauslldR yan (Qewot, 28% QaeAA oA Rewor, 26% Qene(lAA Aln

[Qewat Aneall A wuA oidlett Wy o Al 8, dl dtud 2dc QenellzQ st

If in school E 30% students got first division, 28% students got second division, 26% students got third

division and rest did not pass. Find the failed students.

a) 1000 b) 900 c) 940 .. d) 960
41 a8 Al BlsTlall wuA o ¢ Hi BlsRd q2 Al itz 2cll B2

What is the ratio between girls in school B and boys in school C?

a) 8:5 - b) 5:8 c) 6:7 d 7:6
42 BDF, CFl, DHL, ?

a) EMI b) CJM c) EJO d) EML
43 23, 29, 36, 44, 7

a) 58 b) 55 c) 53 d) 49
44 A + UAUR X, - GLRAUR +, X GRAWD = U + WRAUR ~- A A 6-9+8x3+20=

If + equals x, ~ equals +, x equals + and + equals —

a) 6 b) 2

c) 12

vthen 6 -9 +8x3+20=

d) 10
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46

47

48

49

50

51

A i H vedl als weudl, 5 7 3

Fill in the missing number in the given question, 20 30 10

95 145 ?

a) 225 b) 75 ¢) 45 d) 33
ol ett ol ol Aolua A A ealetdl Aot uigld urle 2: s, dARwA, Y

Select the Venn diagram that best illustrates the relationship among the following classes: Moon,

o ©Oo QO @

ol Ws & WAletl AR WA WA el AL B, 51 ol [A3¢ vl 20k

a)

Four different positions of the same dice are given below. Find the opposite number of 51.

a) 53 b) 52 c) 55 d) 54
et @i, WAA BS| Bell o A el 8 : 4.

From the given options, find the pair which is similar to the given pair: 8 : 4.

a) 216: 32 b) 27:9 _ (_:) 72:2‘_1_ - d) 45: 5
80 &l 90 a2 ofl dxtm wlAeua Avaul «l JRUslR o a?

What is the product of all prime numbers between 80 and 907

a) 83 b) 7387 c) 598347 d) 8773

1257 122 4 AsH ol vis WL (Find the units digit in 1257 122),

a) 9 b) 7 c) 3 d) 2
Gallotl oll oeid sl o Ll 6cll?
(Qtot:

L R, wen? Wetel Hictiell 24 ay oiell 8.
I Fellettell eites, Aell ot 2000 Hi 2l &cll. Wellell Hictell 30 aY ool B

a) Asq] [Autet 1 yq B. wad Asq Qe 1 valvd ol
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52

83

by Asq Qe 1t Yad B, *u? Asd Quuet 1 vadiet oo,
) W Quiet 1 wa 11 ydl «1l.

d) ol [@tutet 1 WA 1 Y2 B,

In which year was Fiona born?

Statements:

I. Fiona is currently 24 years younger than her mother.

. Fiona's brother was born in 2000. He is 30 years younger than his mother.
a) Statement | alone is sufficient. While statement Il alone is not sufficient.
b) Statement 1| alone is sufficient. While statement | alone is not sufficient.
c) Both statements | and Il are not sufficient.

d) Both statements | and Il are sufficient.
W, 2006 «ll Bedl AAR 56 AN el sdl?
Qe

Lo HEaell Wl 2Qaz 5 Hl dAdlR weal A,

o 1ol Becl Rad ysar edl.

a) WAsq Quiet | Yd 8. *AR Asq Qe 1 waid o,
b) Wsef [Qulet 11 yd B, R Asq Rtet 1 vaiid ol
o) oiel [Qutet | AU I YRell B.

d) ot [Qutet 1 AR 11 Yol ol

The last Sunday of March, 2006 fell on which date ?
Statements:

. The first Sunday of that month fell on the 5".

. The last day of that month was Friday.

a) Statement | alone is sufficient, While statement Il alone is not sufficient.
b) Statement Il alone is sufficient. While statement | alone is not sufficient,
c) Both statements | or Il are sufficient,

d) Both statements | and Il are not sufficient,

58oil:

1EWAU BB 2.ev5Cc A BB
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54

55

56

b

58

59

60

BRCIE

1.E¥3S CUA D, 2. 3eclls B 9 C o2,
a) §5ct QN -1 A B, b) §5c e -2 wagu B,
) [ -1 w2 U B, d) s .1 3 2 Al Asugl uogud oell,

Statements: 1. Every A is B, 2, Every C is B.

Conclusions: 1, Every C is A. 2. Some B is not C.

a) Only conclusion -1 follows. b) Only conclusion -2 follows.

¢) Conclusion -1 and 2 follow. d) Neither conclusion -1 nor 2 follows.

M x AR y A dvull Al o Aetintiel 520 Rseu gl vl Y72

If x and y are odd numbers, then which of the following options will be an even number?
a) x+y b) x+y+1 c) xy d) xy +2
%1 2389A4 A 9 ad AN el wusla dl A =2

If 2389A4 can be divided by 9 without remainder, then A =?

a) 3 b) 2 c) 1 d) 0

72 x 81 X 78 x 99 Hl Vsl s A4,

Find the units digit in 72 X 81 x 78 x 99. '

a) 1 b) 2 c) 3 d) 4

A= Ax=2 L= thenx=?)
x x 22-2-

7'}1

223
a) 25/2 b) 4/25 e 28 2 . i
46° — 40% — 6%=7 |
a) 32120 b) 33120 c) 0 d) 30120
9|3 -5|—-5x4+10=?
a) 16 b) --16 ¢) 52/10 d) —92/10
5ol 104l UE 9 &2 : 8, 11, 14, 17, ...
The 10th term of the sequence: 8, 11, 14, 17, ... is ...
a) 31 b) 33 c) 35 d) 37

*The End*

Page 10 of _10



CHARUTAR VIDYA MANDAL’S

S. M. PATEL COLLEGE OF HOME SCIENCE
(Autonomous)

Vallabh Vidyanagar

Laboratory Assistant Written Examination

Part-A (Series: C)

Subject:
Time: 60 Min

Candidate Sign. :

Marks : 60
SeatNo.

1

AUAA U MLyl s wQuel.

Fill in the missing number in the given question.
}

a) 25 b) 20

48

51

c) 32
As cldel 1l Q0] wlet oA BY ol 16 A D, Al A et UL B2l calsel 622

Ravi's position in a line is 16" from both ends. So how many people are there in that line?

a) 29 b) 30
1, 4, 27, 16, ?, 36, 343

a) 25 o~ ~_b) 87
OTE, PUF, QVG, RWH, ?

a) SXI b) SXJ

c) 31

8 348

¢) TXI

A5 2GRl dcdtlol U Aol Hictell GHR 52cll E ol B. w6 ugl, Aell GHR, dell Measll

Guz sl 5 aell ue %Al Al Aell Hidlell adHiot GuR ¥ecll 632

A person's current age is % times his mother's age. After eight years, his age will be % times his

mother's age. So, what will be his mother's current age?

a) 32 b) 36

c) 40

APxQAUIQARAAPD, P-QolUud Qell Ut P B, P+Q sl Ud Qell WL P B, P+

Q ol ued Qi eus P 8.

If Px Q means Q's father P, P — Q means Q's sister P, P + Q means Q's mother P, P = @ means

Q's brother P.
a) =l b) YA

granddaughter son

c) o

grandson

d) QoL ¥ QA
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wd .

granddaughter or

grandson

2 e As Rate YR Ml AN 3:25 Bwd D, A sclts wA AR siet ol a2 ol Yot vEl 4
67
When a wall clock shows 3: 25, what will be the minimum angle between the hour and minute hands?
a) 60° b) 52.5° c) 47.5° d) 42°

g A eyl ol 120 R gtz ol R Ray udel 8, A H@at A 211 Ray sal Rad 6917
If the 12th of January is four days before Thursday, then what day will be the 21st of the month?
a) Manalr b) USCAR c) ez d) AHaAR

Tuesday Friday Sunday Monday

o 100 Reneluiell srai WAL 1dul: 40 Qenedl @ (M) 2R B, 50 Qeudl @stiet (S) 2R B, 35
Renel 3 () oR B, 15 ReulA a@ld wUA sttt oA AR B, 10 Qanellad Qstiat uial 243 o
SR B, 12 RenellR AR A 203 @A oA B, 5 Reella 232 Quat o B, Al decti Qarellal izt
RAs [ QAna adld 2R B2
In a survey of 100 students: 40 students like Mathematics (M), 50 students like Science (S), 35 students
like English (E), 15 students like both Mathematics and Science, 10 students like both Science and
English, 12 students like both Mathematics and English, 5 students like all three subjects. How many
students like only Mathematics?
a) 13 b) 17 c) 30 d) 18

10 2@ () o0 0 uden w2 [@Qsed (a), (b), (0) UA (d) Hiell Aol WA w3l vell ue s:A
choose the correct mirror-image of the Fig. (x) from amongst the four alternatives (a), (b), (c) and (d)
given along with it. I} o) olo o)

R e i
(x) a) b) c) d)
(48 ot 11-12)

A1D ofl Bl ratatycls il wal o1 et YA olt Feol AU,
el Bizell wedl As 2Ranul Bz A A @ B, A J, K, L, M, N, O, P, Q, ddll R B, u As &
s i st B, L, M ol d2ct el ctyR ddl N ofl agll cuyA A8 B. K A0l As Bsl W B. Q A

0 uA P oial ol WA AL B. 0, K ol stell ety Ao 57 B, J, 0 oll SIA Rl ¥ ABe B,
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(Question No. 11-12)

Read the information below carefully and answer the questions given below.

Nine cricket fans are watching a cricket match in a stadium. They are J, K, L, M, N, O, P, Q, and R. And

they are sitting in the same row. L is 10 the immediate right of M and third to the right of N. K is at one end

of the row. Q is sitting near both O and P. O is third to the left of K. J is sitting immediately to the left of O,

11

12

13

&3Mell M ULl Sl A B?

Who is sitting in the middie of the row?

a) | b) J c) O d) Q

sAnetl ol B3 SluL A B? (Who is sitting at the other end of the row?)

a) J b) P c) N d) R

P ol Elscllell 25U Q &l atd u2d R ofl #RuiHell A WS B. R ol Hsu s &l el B, Al v UyeHl
Alell 35Ul Elselr sl B2

P's running speed is greater than Q but less than R. R's speed is less than S. So who is the fastest

runner in this group?

a) S b) R c) P d Q

(U ol 14 - 17) ollRotl 2 gell AeARY 521 : _ School | Boys : Girls |
Studnets |

@ & AEL Aol ol g QeaneRael o0 : A 07 : 08
vl ocdld B ua o{lAetl Yllolloll wellol gggg B 06:08
Al s c 01:01 |
3000 - l
(Question No. 14-17) Study the graph below 2000 D 03 :01 |
1000 |
which shows the total number of students in 0 B 02 : 01 !
. A B € D E F = J

six different schools and answer the F 07 : 03

questions that follow.

14

15

i
|

ol stoulml 8lsdlell 1222t ¥2cll B2 (What is the average of girls in all school?)
a) 1375 b) 1275 c) 1225 d) 1350
sual F ML 6152120 2ol o D Hl Bledlll a9 dsleld 87

What is the difference between the boys in school F and the girls in school D?

a) 600 b) 700 c) 400 d) 200
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16

17

18

20

21

23

A s E AL 30% QaneAA wan @ewdt, 28% Qeaell02 ol @ewoal, 26% @QeaudRAA Al
ool Racall A2t A oltgloil Wt of q2L 8, dl st Ul AAAL (Qewellx0 0.

If in school E 30% students got first division, 28% students got second division, 26% students got third
division and rest did not pass. Find the failed students.

a) 1000 b) 900 c) 940 d) 960

st B L lsFlall A 2ot C Ml Bls2AvL d2Aell 9Bl decll B2

What is the ratio between girls in school B and boys in school C?

a) 8:5 b) 5:8 c) 6:7 d) 7:6

BDF, CFl, DHL, ?

a) EMI b) CIM c) EJO d) EML

23, 29, 36, 44, ?

a) 58 b) 55 c) 53 d) 49

R 4+ WA X, — HRIAR +, X GRAU + AN + GRAUR — QA AN 6—-9+8x3+20=

If + equals %, — equals +, X equals + and + equals — , then 6 -9 +8 X 3+-20=

a) 6 b) 2 c) 12 d) 10
A s 1 vedl s wgudl, B i 3
Fill in the missing number in the given question. 20 30 10

95 145 ?

a) 225 b) 75 c) 45 d) 33
A Dett aoll 2ot Acita Ars A ealadl Aot 2HlA UAe 5A: As, dRRA, YA

Select the Venn diagram that best illustrates the relationship among the following classes: Moon,

&S ©Oo GO @

oAl3 Ds o UlMlell AR WAL BUADL lell AL B, 51 ofl QA& Avau Wk

a)

Four different positions of the same dice are given below. Find the opposite number of 51.
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24

25

26

27

o -,

e, - ~ 4.’—/"" . ,.x"ﬁ“‘w._
52 >3 (L B8 > 52 > (56
| B o i .

s3| 55| | 64 55 'f..Sii 53, {51 54

iy

a) 53 b) 52 c) 55 d) 54
AL [@QseHiell, 10 Adl Fell o 19 W 8 : 4

From the given options, find the pair which is similar to the given pair: 8 : 4

a) 216: 32 b) 27:9 c) 72: 24 d) 45: 5
80 &l 90 <2 ol ctum Qeuw WvuR o QUsIR 3 ULA?

What is the product of all prime numbers between 80 and 90?

a) 83 b) 7387 c) 598347 d) 8773
1257 122 1 Agu ofl s .

Find the units digit in 1257 122,

a) 9 b) 7 c) 3 d) 2
($20otl ol ot s2l a¥ Yl 62
Qe

1o (Bllett, wed Weltoll ictiell 24 a sitell B, -
I (Eotell eud, Aell et 2000 Mi &2 &l Wettell Hictiel 30 A oioll B,
a) Asq [Autet 1 Y B. »2u? Ase] Qe 1 vl otell,
b) Asef [Quuet 11 Yrq B. > Ase Rtet 1 vaid o2,
c) oo [Auet | B I Y2ell ol
d) ol Attt | A 1 Yel B,
In which year was Fiona born?
Statements:
I. Fiona is currently 24 years younger than her mother.
Il.  Fiona's brother was born in 2000. He is 30 years younger than his mother,
a) Statement | alone is sufficient. While statement Il alone is not sufficient,
b) Statement Il alone is sufficient. While statement | alone is not sufficient.
c) Both statements | and Il are not sufficient.

d) Both statements | and || are sufficient.
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28 M2, 2006 o0l Bl (Qctz 8¢ AN vl 6417

28

30

[@utet;
LA HRettell UBAL 2Qaz 5 Ml Al el s,

I A HRellell Bedl R o Ysclr sl
a) Asq] [Qulet 1 Yy B, s Asg Qtitet 11 vaire o2,
b) Asd] [Atuel Il Yad B, AR Ase] Rultet | waite atell.
c) olal [@Quet 1 viaew 11 Yo B,
d) olal @Quet | WA 1 Yaet otell,
The last Sunday of March, 2006 fell on which date ?
Statements:
. The first Sunday of that month fell on the 5th.
Il.  The last day of that month was Friday.
a) Statement | alone is sufficient. While statement Il alone _is not sufficient.
b) Statement Il alone is sufficient. While statement | alone is not sufficient.
c) Both statements | or Il are sufficient.

d) Both statements | and Il-are not sufficient. - - ot -

sUedl:

1.ERs AN BB, 2. € CAB B.

(Resd:

1. E5 CAH A B, 2. 32clls B A C ol

a) 5 Bl 1 v B.  b) 85c (e 2 AU B.

c) s -1 U 2 wgU? B. d) [es -1 ¥ 2 Ugl Asupl Aqud «t2ll.
Statements: 1. Every A is B. 2. Every C is B.

Conclusions: 1. Every C is A. 2. Some B is not C.

a) Only conclusion -1 follows. b) Only conclusion -2 follows.

c) Conclusion -1 and 2 follow. d) Neither conclusion -1 nor 2 follows.

ol x ua y A4l dvall Al [ Aeiniell s [@Qseu Al dvl ad?
If x and y are odd numbers, then which of the following options will be an even number?

a) x +y b) x+y+1 c) xy d) xy +2
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31

32

33

34

35

36

37

38

39

40

41

oA 2389A4 A 9 a3 GBLAW ewoll wAslA l A =7

If 2389A4 can be divided by 9 without remainder, then A =7

a) 3 b) 2 c) 1 d) 0

72 x 81 x 78 x 99 Ml AsMoll iy A,

Find the units digit in 72 x 81 x 78 x 99.

a) 1 b) 2 c) 3 d) 4

ofl s;_n = -2—353- Al x =7

If 2—0 = Eé— then x =?.

a) 25/2 b) 4/25 c) 25 d) 4

463 - 403 - 63=7

a) 32120 b) 33120 c) 0 d) 30120
9|3 - 5| —5%x4+10 =?

a) 16 b) —16 c) 52/10 d) —92/10
sHoll 104l UE 9 697 : 8, 11, 14, 17, ...

The 10th term of the sequence: 8, 11, 14, 17, .... is ......

a) 31 b) 33 c) 35 d) 37
1+1+1+1+ : e

2 4 8 16
a) 15/16 b) 31/16 c) 30/16 d) 17/16

Avisell dlell A uA el ottell vl sl dglelct A, Betl Bslo0 Adll 14 B.

Find the difference between the largest and the smallest two-digit numbers whose sum of digits is 14.

a) 18 b) 27 c) 15 d) 36
A x+x+1=0c YO a v g &2, cn-:—!+%aj,q\eu%eci 82

If @ and B are the root of x2 + x4+ 1 = 0. Then what will be the value of &+ %’?

a) 1 b) 0 c) -1 d) None

Rx—1=3 8 dlof x* — % o yeal Bed 27 (If x — 1 = 3, then what is the value of x* -5
a) 36 b) 63 c) 99 d) 27

R 6x —5x—k =0 A5 YO 3 A A, k of YA Y 832

If one root of 6x% — 5x — It = 0 is 3, what will be the value of k?

a) 36 b) 39 c) 0 d) 2
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42

43

44

45

46

47

48

140 Qranell g2t Nadet et o 2229t 35 B, Aul wy «deu Qe w222 40 3L B. e
Atwd adcl Qrauelluilell u22eet 40 oot 8. dl sttt ud ey @rauellullel 229 20 98 B, Al AW
udcl @raue[vle(l Avan Becll 607

The average of the marks obtained by 140 students is 35. The average of the passed students is 40
marks. And the average of the failed students is 40 marks. So, the average of the failed students is 20
marks. So, what will be the number of failed students?

a) 40 b) 30 c) 35 d) 20

10 Avallell A2 15 82t val £25 Avall UL 5 GRHL A, dl otcll AR g ©a?

If the average of 10 numbers is 15 and 5 is added to each number, what will be the new average?

a) 20 b) 15 c) 10 d) 75

Mettell sletell Guz Yo sl 5 ol B, 4 arf ugl Aol G 4 2l 29, Al el sletedl Guz
sec{l a2

The father's present age is 5 times that of his son. After 4 years, the father's age will be 4 times that
of his son, then what will be the father's present age?

a) 12 b) 48 c) 60 d) 72

S5 dacqeoll eltadl 15 % el Al 8. %l detl U Al WA d & AW dlat Al cunal Hi 32cl 25t
yzlsl sl ASA?

The price of an item increases by 15%. If the expenditure on it is to remain the same, by what percentage
should consumption be-reduced?

a) 13-% b) 13% c) 15% d) 1355%

30% ¢l 30% = 7?7 (30% of 30% = 7?)

a) 0.09 b) 9 c) 0.9 d) AsULL «1&8l (None)
Az dzdq 900/- 32U 1l Aucel 25% ofl vz A A Aoll YalBud decll &2

If an item is sold for Rs 800/- and there is a loss of 25%, what will be its original price?

a) 2600 b) 1125 c) 675 d) 1200

Al 2N wal UM s 12 (R ual 15 Ray 1l s yul s3] A 8. A W 1ol 5 Ray s
53 & ol UM %l 28 & dl eltfle st ulAn A Yol sdl decl Rad coid?

If Anish and Param can complete a work in 12 days and 15 days respectively. They work together for

5 days and Param stays away, then in how many days will Anish take to complete the remaining work?
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49

50

51

52

b3

a) 3 days b) 9 days c) 15/4 days d) AsuQl o1&l (None)

A ottt 218l A 4 sclls Wi adl A B, wA B o 2lsl A 6 sclls ML Well 52 B. 8l dal s Asud
Wdail A Al 2isl 32ell sEls ML R e ?

Tap A can fill the tank in 4 hours. And tap B empties the tank in 6 hours. If both the taps are opened
simultaneously, in how many hours will the tank be filled?

a) 15 b) 52 c) 12 d) Asuwl o8l (None)
wellet WA U HellA A cAdUAML FE 3. 2,00,000 of Astgl 83, ¥l 3. 1,20,000 of Asel 52] ol
UaA 3. 80,000 of Aslal 53, As ay ugdl, e o8l 3. 65,000 U, Uclotal B2l oAl HoAL?

Jatin and Pawan together invested a total of Rs. 2,00,000 in a business. Jatin invested Rs. 1,20,000
and Pawan invested Rs. 80,000. After one year, the total profit was Rs. 65,000. How much profit did
Pawan get?

a) 26,000 b) 39,000 c) 32,500 d) 25,500

110 HL aioll Botell: s 60 BalUsclls B. amidr wel u GA 170 Hl. @lioll et A AL 3ecll
AL5S AL?

The speed of a 110 m. long train is 60 km/hr. How many seconds does it take to cross a 170 m. long
train standing on parallel tracks? —

a) 15.6 b) 16.8 c) 17.2 d) 18

A A Gl AR AosR x BHUscus ual y BUscus 82, Al s Al [z« Rl o atll
26U 83 R Aol Ael@d 2 Z2cll 622

If the speeds of two people are x km/hr and y km/hr respectively, what will be their relative speed when

they are moving in opposite directions?
2xy b) 2xy

a) x+y ' x—y
A S,=2n*4+3n,d d=? (IfS,=2n%+3n, thend =?)

c) x+y d x—y

a) 13 b) 4 c) 9 H) D

Aol B ofl HIRS s 4: 58 el WRASs WA 7:9 B. ol ol €2 Hda 3. 50 wAA sl 82, Al A
ol HIRS wuas ¥edl 6212

The monthly income of A and B is 4:5 and the monthly expenditure is 7 : 9. If both of them save Rs.
50 every month, then what will be the monthly income of A?

a) 530 b) 500 c) 512 d) 400
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(Ul o1, 55 &l 58.)
(12 A We ALsHiL A5 dunell ot of (QAar
gallatdl B, algell oAU 53 olAotl Yol
Ao el A,
(Question No. 55 to 58.) The pie graph given below
shows the details of the land of a village. Study the

graph and answer the following questions correctly.

55

56

57

58

59

60

] Quawia

Wdlarmg wile

siesen

[ awd uesad wde

upf i Guabnd dada nid

1564 8h18: = 7200 Say)

et WMot (wasteland) dal Wl clas (cultivable) ¥Hlotoll 94G0ct2 d2cll AlA?

What is the ratio of wasteland to cultivable land?

a) 3:2 b) 1:2 c) 4:3 d 3:1

ol JlMa] G AAsO 7200 A5 &, dl oUUR (grazing) HIZ 3ecll WAs2 ¥l AsAct B?

If the total area of the village is 7200 acres, then how many acres of land is reserved for grazing?

a) 1028 b) 5040 c) 3600 d) 1400

sd ¥Hletell 32cl st elal Wdladlas (cultivable) B7? (What percentage of the total land is cultivable?)
a) 24 % b) 50 % c) 25 % d) 90 %

sc wHlololl Z2cl As2 etal drcl YAA B? (How many acres of the total land area is inhabited?)

a) 1200 b) 1400 c) 1028 d) 1650

As gt 6 Bl eldul o drg wA B, el stell dzg adl 4 Gl @ B, sl stell ouey ol
Al Reuni 5 Bl wA B, A e Aof Yu 58 (B2 g 8l 2

A man walks 6 km towards the south, from there he turns left and walks 4 km, then turns left again
and walks straight for 5 km, so in which direction is he now facing?

a) €@l (South) b) G+l (North) c) Yyd (East) d) u@BH (West) -~

ol vl 3675249 Hioll YUAs Al visuiell A olle scMl AA daUl UAs Al vis 1l 3 GReuul
w1 dl dtotcll otcll ollectllul S2cll sl A cud Al HA?

If two are subtracted from each odd digit of the number 3675249 and 3 is added to each even digit,
how many digits appear twice in the new arrangement?

a) 1 b) 2 c) 3 d) 4

*The End*
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